03192-10 FEEMAEHE , HHEHIES B BER R T HMEER K

7= miiEA

MR
FEEE B A TR 2 F R AKX AL BR
T IERZEHRE T HEFXEE,

RS
THWM BT,
Betl , RARBUER PA (RER ) RTENEIK.

A

TRFEE,

ZEhEd , XA PABR , WET4EEEE,
THENED , 2.

BR

BE T M2 5 M3 RN E E iR,
Z%HAX 1, BFHRE 6 mm,
ZEFX 2, BFHRE>6 £ 14 mm,

MBRBEREEH , MHRERZBEE=4 0.1 mm LA LR BEIBE,

fERRER -

HRFE4RAL T OF F 441,

TSI MAER ES LE , FFEETE ON AL
EERENSFE —FHERES,

B4 -
e Z44 03192-25,

HERT :

1) REHX 1
2) REAN 2
3) &

© norelem www.norelem.com



03192-10 TEEWEEFE B |

M
0
0 <
,5{\ . ?f-; %‘
R |
2
l\ i
A &

T BE #5951 25 M 2R S A N BE R Sk

03192-10-14 WMk (6| 14 | 25 | 25 | 21 | 23| 65 55 M2x3 14 | 26 | 44 | 24 |6 ©6-10 2,5
03192-10-18 Rtk (8| 18 | 34 | 34 | 28 | 28| 10 55 M3x4 18 | 35| 65 | 34 |6 ©6-14 2,5
03192-10-114 AWM 6] 14 | 25 | 25 | 21 | 23| 65 55 M2x3 14 | 26 | 44 | 24 |6 ©6-10 2,5
03192-10-118 WM 8] 18 | 34 | 34 | 28 | 28| 10 55 M3x4 18 | 35 | 65 | 34 |6 ©6-14 2,5
03192-10-14 KRBt 110 7 1.1 0,25 °C
03192-10-18 RELR 150 9 1,8 0,4 < °C

© norelem

www.norelem.com




03192-10 THWMEEF B , THEFE IR B 25 M E R A F W hedE K

N
03192-10-114 TEW 110 7 11 0,25 <200 °C
03192-10-118 TEW 150 9 1,8 0,4 <200 °C

© norelem www.norelem.com



